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Cuadro 2 (continuación 1)/Table 2 (continued 1)
 Argentina: tablas abreviadas de mortalidada

Argentina: abridged life tables 
a

1960

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.066 0.063  100 000  6 325  95 288 0.931 b 6 233 748 62.3
1 4 0.004 0.016  93 675  1 513  370 443 0.987 c 6 138 460 65.5
5 5 0.001 0.005  92 161   437  459 714 0.996 5 768 016 62.6

10 5 0.001 0.004  91 724   380  457 673 0.994 5 308 302 57.9
15 5 0.001 0.007  91 345   671  455 044 0.991 4 850 629 53.1
20 5 0.002 0.010  90 673   932  451 036 0.989 4 395 585 48.5
25 5 0.002 0.012  89 741  1 033  446 124 0.987 3 944 548 44.0
30 5 0.003 0.014  88 708  1 199  440 544 0.984 3 498 424 39.4
35 5 0.004 0.018  87 509  1 560  433 646 0.978 3 057 881 34.9
40 5 0.005 0.026  85 949  2 240  424 147 0.966 2 624 235 30.5
45 5 0.008 0.041  83 710  3 467  409 881 0.947 2 200 088 26.3
50 5 0.013 0.064  80 243  5 163  388 308 0.920 1 790 207 22.3
55 5 0.020 0.096  75 080  7 189  357 428 0.884 1 401 899 18.7
60 5 0.030 0.139  67 891  9 418  315 911 0.835 1 044 471 15.4
65 5 0.043 0.196  58 473  11 468  263 699 0.772  728 560 12.5
70 5 0.062 0.268  47 006  12 605  203 518 0.687  464 861 9.9
75 5 0.092 0.375  34 401  12 915  139 718 0.557  261 343 7.6
80 5 0.155 0.551  21 486  11 845  77 816 0.411  121 624 5.7
85 5 0.215 0.674  9 641  6 500  31 952 0.301  43 808 4.5
90 5 0.284 0.777  3 140  2 440  9 602 0.210  11 856 3.8
95 5 0.356 0.851   701   596  2 012 0.107 d  2 254 3.2

100 ω 0.432 1.000   104   104   242   242 2.3
Mujeres/Females

0 1 0.057 0.055  100 000  5 512  95 972 0.939 b 6 806 349 68.1
1 4 0.004 0.016  94 488  1 493  373 690 0.988 c 6 710 377 71.0
5 5 0.001 0.004  92 995   367  464 057 0.997 6 336 688 68.1

10 5 0.001 0.003  92 628   275  462 453 0.996 5 872 631 63.4
15 5 0.001 0.006  92 353   548  460 395 0.993 5 410 178 58.6
20 5 0.002 0.007  91 805   688  457 303 0.992 4 949 784 53.9
25 5 0.002 0.009  91 116   812  453 552 0.990 4 492 480 49.3
30 5 0.002 0.010  90 304   924  449 213 0.988 4 038 928 44.7
35 5 0.003 0.013  89 381  1 153  444 022 0.985 3 589 715 40.2
40 5 0.003 0.016  88 228  1 434  437 555 0.980 3 145 693 35.7
45 5 0.005 0.024  86 794  2 041  428 868 0.971 2 708 138 31.2
50 5 0.007 0.034  84 753  2 894  416 529 0.958 2 279 270 26.9
55 5 0.010 0.051  81 859  4 156  398 902 0.936 1 862 741 22.8
60 5 0.016 0.079  77 702  6 135  373 174 0.902 1 463 839 18.8
65 5 0.025 0.119  71 567  8 503  336 580 0.850 1 090 665 15.2
70 5 0.041 0.186  63 064  11 718  286 027 0.772  754 085 12.0
75 5 0.065 0.280  51 346  14 374  220 796 0.649  468 058 9.1
80 5 0.117 0.450  36 972  16 650  143 236 0.494  247 262 6.7
85 5 0.180 0.606  20 322  12 320  70 812 0.361  104 026 5.1
90 5 0.244 0.722  8 003  5 777  25 570 0.258  33 214 4.2
95 5 0.316 0.814  2 225  1 811  6 600 0.137 d  7 645 3.4

100 ω 0.397 1.000   415   415  1 045  1 045 2.5

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


